-I'I ¥ NMpouecc B Buae HenpepbiBHOro NOTOKA
cnoco6CcTBYyeT BbISABNEHUIO Npobnem

YyacTok 1

ObpaboTtka
A

100 wt

Ob6paboTka: 10 w/a
3anac: 10 gHen

ObpaboTka:
10 w/p,
3anac:
1 neHb

YyacTok 2

ObpaboTtka
b

Ayenka 1

O6pa60TKa.

O6pa60T|<a

O6pa60TKa

ObpaboTka: 5 w/g
3anac: 20 gHen

Yyactok 3

ObpaboTtka
B

ObpaboTtka
C

Yyactok 4

ObpaboTka: 20 w/a

O6paboTka: 10 w/a
3anac: 5 gHen

3anac: 10 aHen
100 wt =45 gHen

YyacTtok 4

Ob6paboTka
C

100 LUT =10 aHewn

Ob6paboTka: 10 w/a
3anac: 1 geHb

TAKT

1N



